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gl ove represe ﬂ.nobwrver at point A watching balloon B as it rises from

pomt( The balloon is rising at a constant rate of 3 meters rsecondandtheobsewer
100 meters from point C.
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(a} Fmdthera:.eofchangem at the instant when y = 507 ‘z :[ 2.}(&( \
(b) Find the rato of change in the arca of right triangle BCA at the instant when d_*. G&‘l‘

(c) Find the rate of change in 0 at the instant when y=50.
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pomt( I‘heballoomsnsmgaucunstantmte meters rsecondandtheobsewer
100 meters from point C.
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(a} Fmdthera:.eofchangem at the instant when y = 507 ‘z :[ 2.}(&( \
. (b) Find the ratc of change in the arca of right triangle BCA at the instant when d_*. G&‘l‘

(c) Find the rate ofchr-mge in 0 at the instant when y = 50.
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Ar = .DH - ) The radius r at’asph:r:isinnu.ﬁngazammtraﬁ:dﬂ.ﬂdmﬁmmrs"pasumnﬂ.

The radis r cfamhrummgnamsmtmmofﬂﬂdmm per second. - 2-) (No!.c: The volume of 2 sphere with radius r & ¥ = %m,z)
(No:c— The volume of 2 sphere with radins r is V=g LT
(' 2™ Tk (a) At!ln:m:whm&emmmofthasphweislﬂemﬁmtmWhatisthcrazecfinmaxofizs
@) At the time when the radius of the sphare i 10 centimeters, what i the rate of fncrease of i o Yaime?
volurme? (b) At the time when the volume of the sphere is 36x cubic centimeters, what is the rate of increase of
(b) A:ﬂ:\eum:whmth:voiumcormcsph.ere:s3ﬁxcu.bm;c:num:1=rs,whmuthcmheofmms:or mmcrauﬂﬁmwagmmﬁmm
themacfacrossscmaummughzhucmrzrnfthzsphme (e) Ar.Lhehmewhenﬂmvnlmandth:radmsofﬂlesplwrcmxumg_atﬂl:samenmm:almu,

what is the radius?

(e) Atmeumcwhmd::mlmandth:rad;usofﬂ:esphmmmmmgatd::samenmm lrate,
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A circle is inscribed in a square a(ﬁg u g e\gm circumference of the circle is
increasing at a constant rate of 6 inches ond. As the circle expands, the square expands to
maintain the condition of tangeficy. (NOte: circle with radins r bas circumference C = 2nr
and area A = mrl)

(a) Find the rate at which the perimeter of the square is increasing. Indicate units of measure.

(b) At the instant when the area of the circle is 251 square inches, find the rate of increase in the area
enclosed between the circle and the square. Indicate units of measure.
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A cirele is inscribed in a square as shown in the figure above. The circumferance of the circle is

increasing at a constant rate of 6 inches per second. As the circle expands, the square expands to

maintain the condition of tangency. (Note: A circle with radins r bas circumference C = 2ar

and area A = mrl)

(a) Find the rate at which the perimeter of the square is increasing. Indicate units of measure.

(b) At the instant when the area of the circle is 251 square inches, find the rate of increase in the area
enclosed between the circle and the square. Indicate units of measure.
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